
SAP ABAP table ICL_POLL {Limit and Deductible in Policy Snapshot}

ICL_POLL

CLIENT [CLNT (3)]

CLAIM [CHAR (17)]

COVERAGE [CHAR (4)]

BENTYPE [CHAR (10)]

INSUREDOBJ [NUMC (4)]

CMC_RULE [CHAR (20)]

LIMUNIT [UNIT (3)]

DEDUCTUNIT [UNIT (3)]

REJREASON [CHAR (2)]

CHANGEDBY [CHAR (12)]

ICLCLAIM

CLIENT [CLNT (3)]

ACTIVE [CHAR (1)]

CLAIM [CHAR (17)]

 ICL_POLL-CLAIM = ICLCLAIM-CLAIM 
0..N

0..N

T000

MANDT [CLNT (3)] ICL_POLL-CLIENT = T000-MANDT 
0..N

0..N

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 ICL_POLL-DEDUCTUNIT = T006-MSEHI 
0..N

0..N  ICL_POLL-LIMUNIT = T006-MSEHI 0..N

0..N TICL022

CLIENT [CLNT (3)]

REJREASON [CHAR (2)]

 ICL_POLL-REJREASON = TICL022-REJREASON 

0..N

0..N

TICL055

CLIENT [CLNT (3)]

BENTYPE [CHAR (10)]

 ICL_POLL-BENTYPE = TICL055-BENTYPE 

0..N

0..N

USR02

MANDT [CLNT (3)]

BNAME [CHAR (12)]

 ICL_POLL-CHANGEDBY = USR02-BNAME 

0..N

0..N


